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48 = 14.0 11.5 == BE me mR
68 i 33.6 23.0 =IE BE me mR
8H| R 32.0 19.5 =IE BE ®me |mR
10H| #= 305 215 =IE BE me wmR
128 5 145 9.0 =IE BE me mR
2| = 8.5 7.0 RE B EE me
4FRRIBIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
I - - - -
EHIE(75%1E) - 10 1.1(1.7) 11 55
48] 69 11 1.3 10 4
64 7.1 8.7 <0.5 18 50
8A|l 18 9.3 <0.5 10 30
10A] 72 8.8 0.5 8 220
12A8] 72 11 1.7 10 17
2A] 715 12 2.3 8 8
BEIER
NS INESS & E ANfEivolL| #ME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | ERE | 001LLF | 0.05LLF [ 0.01LLF | 0.0005LLF
TiH{E - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
D2/ 1=1=F e | 1L.2-27H [1,1-2500[ 2 X-1,2-250(1,1,1-F) 50
PCB 5 mig LR T4y | TFLo NIFLo nTAs
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El EB/E (00281 T 000280 F | 0.004LLF [ 0.02LLF | 0.04LLF 1LTF
E - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
1,12-ry4 [FUYYBAFr5400x| 1,3-040A = S,opse FARUA
aaIsy | TFLY FLY oroxy FI5L e P %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E0.006LLF[0.03LLF | 001LLF | 0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
E - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
15 - - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~F5 N TRILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 4.1 0.008 0.13 0.22 - -
7y: 1 33 0.005 0.20 0.28 - -
6A| - 43 0.026 <0.04 0.15 - -
sA| - 45 0.004 <0.04 0.28 - -
108 - 4.6 0.004 0.04 0.14 - -
128 - 3.7 0.004 0.20 0.24 - -
28 - 42 0.004 0.24 0.24 - -
BiLH HAHERY | UURR s o =3 S
IT/=N| kS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EREl - - 2.1 - = = 570
4A - - 2.1 - - - 470
64 - - 2.8 - - - 360
8H - - 1.3 - - - 570
10H - - 2.2 - - - 750
12H - - 2.0 - - - 840
28 - — 1.8 — — — 440
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XE ([&BCe) | KEBCC) | HMEUKE | FiR =i BR
48 = 14.0 11.5 == BE me mR
6 A i 32.7 235 =E BE ) mE
8H| e 36.0 19.0 =IE BE me mR
10H| #= 305 215 =IE BE me mR
128 5 145 9.0 =IE BE i) mR
2A| = 8.9 7.0 RE B EE ma
HERIEEE _
H DO BOD SS KEEHK
P (mg/) (mg/) | (mg/ | (MPN/100ml)
EHIE(75%1E) - 10 1.1(1.7 11 150
48] 70 11 1.2 12 8
6A] 7.1 8.8 <05 10 300
8A| 75 9.1 <05 10 70
10A] 72 9.0 0.7 9 500
128 72 11 1.7 10 22
28 75 12 2.2 7 13
BEEE
N INESS & R AfivnL| #ME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEE] 0.01LLF | JE4H | 0.01LLF | 0.05LLF [ 0.01ELF | 0.0005LLF JERH
TiH{E - - - - - - -
48 - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -
Sonns wee | 1,200 [11-S90n|P2R-1,2-590(1,1,1-+)50
PCB 5 bR Ak 3 axs | 7oy A My
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(gl JERH [0.02L0LF | 0.002LLF | 0.004LLF | 0.02LLF | 0.04LLF 1LTF
iy - - - - - - -
48 - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -
1,1,2-ky4 [FUZARFrSHY00x| 1,3-290A = S mpate FARA
nATsy | TFLY | FLr  (oFaKky FIOIL b LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 #(E]0.006 L 0.03LLF | 0.01LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
Ty - - - - - - -
48 - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAEE] 001LLTF 1001LLF| 10LLF 0.8LLF 1LLF
EEE[ - - - - -
44 - - - - -
68 - - - - -
8H - - - - -
10A - - - - -
124 - - - - -
2H - - - - -
ZTDMIER
N—~%4 \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 3.9 0.007 0.16 0.22 - -
48 - 3.2 <0.003 0.26 0.22 - -
6 A - 44 0.020 <0.04 0.12 - -
8H - 44 0.004 <0.04 0.32 - -
10H - 4.2 0.005 0.14 0.17 - -
124 - 3.2 0.003 0.23 0.23 - -
2H — 4.1 0.007 0.25 0.23 — —
R (A7) mANERTE | )R s Repp——
Zxz/—)b AA> coD w i AE EREEE
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EH{E - - 2.0 - - - 540
48 - - 1.6 - - - 440
6 A - - 2.1 - - - 370
8H - - 1.6 - - - 440
104 - - 24 - - - 820
124 - - 2.2 - - - 790
2H — — 2.2 — — — 380




